

OSCILLATION AND ASYMPTOTIC BEHAVIOR OF SECOND ORDER
NONLINEAR NEUTRAL DIFFERENCE EQUATIONS OF MIXED
ARGUMENTS

E. THANDAPANI AND V. BALASUBRAMANIAN

ABSTRACT. In this paper the authors present conditions for the oscillatory and asymptotic behavior of solutions of second order nonlinear neutral difference equations of mixed arguments of the form

$$\Delta\left(r_n\Delta(x_n + ax_{n-\tau} + bx_{n+\sigma})\right) + p_nx_{n-k}^\alpha + q_nx_{n+m}^\beta = 0$$

where $n \in \mathbb{N}(n_0)$. Examples are provided to illustrate the main results.

1. INTRODUCTION

In this paper, we are concerned with the oscillatory and asymptotic behavior of solutions of second order difference equation of the form

$$\Delta\left(r_n\Delta(x_n + ax_{n-\tau} + bx_{n+\sigma})\right) + p_nx_{n-k}^\alpha + q_nx_{n+m}^\beta = 0, \quad n \in \mathbb{N}(n_0), \quad (1)$$

where $\mathbb{N}(n_0) = \{n_0, n_0 + 1, \dots\}$, and n_0 is a positive integer, α and β are ratios of odd positive integers. Further we assume the following conditions without further mention:

- (H₁) $\{r_n\}$ is a positive real sequence for all $n \in \mathbb{N}(n_0)$ and $\sum_{n=n_0}^\infty \frac{1}{r_n} < \infty$;
- (H₂) a and b are nonnegative constants such that $0 \leq a + b < 1$;
- (H₃) $\{p_n\}$ and $\{q_n\}$ are nonnegative real sequences and not eventually zero for many values of n ;
- (H₄) τ, σ, k and m are nonnegative integers.

By a solution of equation (1), we mean a real sequence $\{x_n\}$ defined for all $n \geq n_0 - \theta_1$, where $\theta_1 = \max\{\tau, k\}$ and satisfies equation (1) for all $n \geq n_0$. Let $\theta_2 = \max\{\sigma, m\}$. Clearly, if the initial condition $x_n = \phi_n$ for all $n \in [n_0 - \theta_1, n_0 + \theta_2 - 1]$ is given, then equation (1) has a unique solution satisfying the initial condition. A solution of equation (1) is said to be oscillatory if it is neither eventually positive nor eventually negative, and nonoscillatory otherwise.

From the review of literature, it is known that there has been a lot of interest in studying the oscillatory and asymptotic behavior of solutions of difference equations of second order, see for example, [1, 2, 3, 4, 6, 12, 15, 16, 17, 18, 19, 20, 22] and the references cited therein. Recently in [15, 16, 17], the authors considered equation of the type (1) and established some sufficient conditions for the oscillation of all solutions when $\sum_{n=n_0}^\infty \frac{1}{r_n} = \infty$.

However when $b = 0$ and either $p_n = 0$ or $q_n = 0$ there are some results available in the literature dealing with the oscillatory behavior of equation (1) when $\sum_{n=n_0}^\infty \frac{1}{r_n} < \infty$, see [12, 18, 19, 20, 22] and the references cited therein.

2010 *Mathematics Subject Classification.* 39A11.

Key words and phrases. Second order, nonlinear, neutral type difference equation, oscillation.

Motivated from the above observation, in this paper we obtain some new sufficient conditions for the oscillation of solutions of equation (1) when $\sum_{n=n_0}^{\infty} \frac{1}{r_n} < \infty$. In Section 2, we present some preliminary lemmas and in Section 3, we obtain some new oscillation criteria for equation (1). Section 4 contains some examples to illustrate the main results. Thus the results of this paper are new and extend to those established in [12, 18, 19, 20, 22].

2. SOME PRELIMINARY LEMMAS

Throughout this paper we use the following notation without further mention:

$$\begin{aligned} z_n &= x_n + ax_{n-\tau} + bx_{n+\sigma}, \\ P_n &= \min\{p_n, p_{n-\tau}, p_{n+\sigma}\}, \\ Q_n &= \min\{q_n, q_{n-\tau}, q_{n+\sigma}\}, \\ R_n &= \sum_{s=n_0}^{n-1} \frac{1}{r_s} \text{ and } P_n^* = P_n + Q_n. \end{aligned}$$

We begin with the following lemma.

Lemma 1. *Let $\{x_n\}$ be an eventually positive solution of equation (1). Then one of the following two cases holds for all sufficiently large n :*

- (I) $z_n > 0$, $r_n \Delta z_n > 0$, $\Delta(r_n \Delta z_n) \leq 0$;
- (II) $z_n > 0$, $r_n \Delta z_n < 0$, $\Delta(r_n \Delta z_n) \leq 0$.

Proof. Assume that $x_{n-\theta_1} > 0$ for $n \geq N \in \mathbb{N}(n_0)$. Then by the condition (H_3) , we have $z_n > 0$ and $\Delta(r_n \Delta z_n) \leq 0$ for $n \geq N$. Hence $\{r_n \Delta z_n\}$ is eventually of one sign. This completes the proof. \square

Lemma 2. *Let $\{x_n\}$ be an eventually positive solution of equation (1), and the corresponding $\{z_n\}$ satisfies Case (II) of Lemma 1. If*

$$\sum_{n=n_0}^{\infty} \frac{1}{r_n} \sum_{s=n_0}^{n-1} (p_s + q_s) = \infty, \quad (2)$$

then $\lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} z_n = 0$.

Proof. Let $\{x_n\}$ be an eventually positive solution of equation (1) for $n \geq n_1 \in \mathbb{N}(n_0)$. Since $z_n > 0$ and $\Delta z_n < 0$, there is a finite constant ℓ such that $\lim_{n \rightarrow \infty} z_n = \ell$. We shall prove that $\ell = 0$. Assume that $\ell > 0$, then for any $\epsilon > 0$ we have $\ell + \epsilon > z_n > \ell$ eventually for $n \geq n_1$. Choose $0 < \epsilon < \frac{\ell(1-a-b)}{a+b}$ with $a + b < 1$. It is easy to verify that

$$\begin{aligned} x_n &= z_n - ax_{n-\tau} - bx_{n+\sigma}, \text{ for } n \geq n_1 \\ &> \ell - az_{n-\tau} - bz_{n+\sigma} > \ell - (a+b)(\ell + \epsilon) \\ &> kz_n, \text{ for } n \geq n_1 \end{aligned}$$

where $k = \frac{\ell - (a+b)(\ell + \epsilon)}{\ell + \epsilon} > 0$. From the last inequality and equation (1) we have

$$\begin{aligned} \Delta(r_n \Delta z_n) &\leq -p_n k^\alpha z_{n-k}^\alpha - q_n k^\beta z_{n+m}^\beta \\ &\leq -k^\alpha \ell^\alpha p_n - k^\beta \ell^\beta q_n \\ &\leq -d(p_n + q_n) \end{aligned}$$

where $d = \min\{k^\alpha \ell^\alpha, k^\beta \ell^\beta\}$. Summing the last inequality from n_1 to $n - 1$, we obtain

$$\begin{aligned} r_n \Delta z_n - r_{n_1} \Delta z_{n_1} &\leq -d \sum_{s=n_1}^{n-1} (p_s + q_s) \\ -\Delta z_n &\geq d \frac{1}{r_n} \sum_{s=n_1}^{n-1} (p_s + q_s). \end{aligned}$$

Summing the last inequality from n_1 to ∞ , we obtain

$$z_{n_1} \geq d \sum_{n=n_1}^{\infty} \frac{1}{r_n} \sum_{s=n_1}^{n-1} (p_s + q_s).$$

This contradicts to (2). Thus $\ell = 0$. Moreover, the inequality $0 < x_n \leq z_n$ implies that $\lim_{n \rightarrow \infty} x_n = 0$. The proof is now complete. \square

Lemma 3. *Let $A \geq 0, B \geq 0$ and $\alpha \geq 1$. Then*

$$A^\alpha + B^\alpha \geq \frac{1}{2^{\alpha-1}} (A + B)^\alpha. \tag{3}$$

Lemma 4. *Assume $A \geq 0, B \geq 0$ and $0 < \alpha \leq 1$. Then*

$$A^\alpha + B^\alpha \geq (A + B)^\alpha. \tag{4}$$

The proof of Lemmas 3 and 4 can be found in [10].

Lemma 5. *Let $\{x_n\}$ be a positive solution of equation (1) satisfies Case(I) of Lemma 2. Then*

$$z_n \geq R_n r_n \Delta z_n$$

for all $n \geq N$.

Proof. Since $\Delta(r_n \Delta z_n) \leq 0$ and $r_n \Delta z_n > 0$, we see that

$$z_n = z_N + \sum_{s=N}^{n-1} \Delta z_s \geq \sum_{s=N}^{n-1} \frac{1}{r_s} r_s \Delta z_s \geq r_n \Delta z_n \sum_{s=N}^{n-1} \frac{1}{r_s}.$$

The proof is now complete. \square

3. OSCILLATION RESULTS

In this section we obtain some sufficient conditions for the oscillation and asymptotic behavior of all solutions of equation (1). We begin with the following theorem.

Theorem 1. *Let the condition (3) holds. Assume that $1 \leq \alpha \leq \beta$, and*

$$\Delta w_n + \frac{P_n}{4^{\alpha-1}} \frac{R_{n-k}^\alpha w_{n-k+\tau}^\alpha}{(1 + a^\alpha + \frac{b^\alpha}{2^{\alpha-1}})^\alpha} \leq 0, \quad n \in \mathbb{N}(n_0) \tag{5}$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1). Without loss of generality, we may assume that $x_{n-\theta_1} > 0$ for all $n \geq N_1 \in \mathbb{N}(n_0)$, where N_1 is chosen so that both the cases of Lemma 1 hold for all $n \geq N_1$. From the equation (1) for all $n \geq N_1$, we have

$$\begin{aligned} & \Delta(r_n \Delta z_n) + p_n x_{n-k}^\alpha + q_n x_{n+m}^\beta + a^\alpha \Delta(r_{n-\tau} \Delta z_{n-\tau}) \\ & + a^\alpha p_{n-\tau} x_{n-k-\tau}^\alpha + a^\alpha q_{n-k} x_{n+m-\tau}^\beta + \frac{b^\alpha}{2^{\alpha-1}} \Delta(r_{n+\sigma} \Delta z_{n+\sigma}) \\ & + \frac{b^\alpha}{2^{\alpha-1}} p_{n+\sigma} x_{n-k+\sigma}^\alpha + \frac{b^\alpha}{2^{\alpha-1}} q_{n+\sigma} x_{n+m+\sigma}^\beta = 0, \quad n \geq N_1. \end{aligned} \quad (6)$$

Since $\alpha \leq \beta$, $a < 1$ and $b < 1$, we have

$$\begin{aligned} & \Delta(r_n \Delta z_n) + a^\alpha \Delta(r_{n-\tau} \Delta z_{n-\tau}) + \frac{b^\alpha}{2^{\alpha-1}} \Delta(r_{n+\sigma} \Delta z_{n+\sigma}) \\ & + P_n \left[x_{n-k}^\alpha + a^\alpha x_{n-k-\tau}^\alpha + \frac{b^\alpha}{2^{\alpha-1}} x_{n-k+\sigma}^\alpha \right] \\ & + Q_n \left[x_{n+m}^\beta + a^\beta x_{n+m-\tau}^\beta + \frac{b^\beta}{2^{\beta-1}} x_{n+m+\sigma}^\beta \right] \leq 0, \quad n \geq N_1. \end{aligned}$$

Using the inequality (3), we obtain for $n \geq N_1$

$$\Delta(r_n \Delta z_n) + a^\alpha \Delta(r_{n-\tau} \Delta z_{n-\tau}) + \frac{b^\alpha}{2^{\alpha-1}} \Delta(r_{n+\sigma} \Delta z_{n+\sigma}) + \frac{P_n}{4^{\alpha-1}} z_{n-k}^\alpha + \frac{Q_n}{4^{\beta-1}} z_{n+m}^\beta \leq 0 \quad (7)$$

or

$$\Delta(r_n \Delta z_n + a^\alpha r_{n-\tau} \Delta z_{n-\tau} + \frac{b^\alpha}{2^{\alpha-1}} r_{n+\sigma} \Delta z_{n+\sigma}) + \frac{P_n}{4^{\alpha-1}} z_{n-k}^\alpha \leq 0, \quad n \geq N_1. \quad (8)$$

Next we consider the two cases of Lemma 1

Case (I). Assume that Case (I) of Lemma 1 holds for all $n \geq N_1$. From (8), and Lemma 5, we obtain

$$\Delta(y_n + a^\alpha y_{n-\tau} + \frac{b^\alpha}{2^{\alpha-1}} y_{n+\sigma}) + \frac{P_n}{4^{\alpha-1}} R_{n-k}^\alpha y_{n-k}^\alpha \leq 0 \quad (9)$$

where $y_n = r_n \Delta z_n$ and $y_n > 0$ is nonincreasing for all $n \geq N_1$. Now we define, $w_n = y_n + a^\alpha y_{n-\tau} + \frac{b^\alpha}{2^{\alpha-1}} y_{n+\sigma}$, then $w_n > 0$, $n \geq N_1$, and

$$w_n \leq (1 + a^\alpha + \frac{b^\alpha}{2^{\alpha-1}}) y_{n-\tau}, \quad n \geq N_1.$$

Using the last inequality in (9), we obtain

$$\Delta w_n + \frac{P_n}{4^{\alpha-1}} \frac{R_{n-k}^\alpha w_{n+\tau-k}^\alpha}{(1 + a^\alpha + \frac{b^\alpha}{2^{\alpha-1}})^\alpha} \leq 0, \quad n \geq N_1.$$

Thus $\{w_n\}$ is an eventually positive nonincreasing solution of (5) which is a contradiction.

Case (II). Assume that Case (II) of Lemma 1 holds. Then by Lemma 2, we prove that $\lim_{n \rightarrow \infty} x_n = 0$. This completes the proof. \square

Corollary 1. Assume $\alpha = 1$ and $\beta \geq 1$ and $k - \tau \geq 1$ hold. If the condition (3) and

$$\liminf_{n \rightarrow \infty} \sum_{s=n+\tau-k}^{n-1} P_s R_{s-k} > M \left(\frac{k - \tau}{1 + k - \tau} \right)^{1+k-\tau} \quad (10)$$

where $M = (1 + a + b)$ are satisfied, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 1 and [13, Theorem 2]. \square

Corollary 2. Assume $\alpha > 1$, $k - \tau \geq 1$ and condition (3) hold. If there exists a $\lambda > \frac{1}{k-\tau} \log \alpha$ such that

$$\liminf_{n \rightarrow \infty} \left[P_n R_{n-k}^\alpha \exp(-e^{\lambda n}) \right] > 0, \quad n \in N \tag{11}$$

then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 1 and [21, Theorem 2]. □

Theorem 2. Let condition (3) holds. Assume that $\alpha > \beta \geq 1$, and

$$\Delta u_n + \frac{P_n}{4^{\alpha-1}} \frac{R_{n-k}^\alpha u_{n+\tau-k}^\alpha}{(1 + a^\beta + \frac{b^\beta}{2^{\beta-1}})^\alpha} \leq 0, \quad n \in N \tag{12}$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1). Without loss of generality, we may assume that there is a $N \in \mathbb{N}(n_0)$ such that $x_n > 0$ and $x_{n-\theta_1} > 0$ for all $n \geq N$. Then by Lemma 1, there are two cases for $\{z_n\}$. Assume that Case (I) holds for all $n \geq n_2 \geq N$. Proceeding as in Theorem 1 we obtain

$$\Delta(y_n + a^\beta y_{n-\tau} + \frac{b^\beta}{2^{\beta-1}} y_{n+\sigma}) + \frac{P_n}{4^{\alpha-1}} R_{n-k}^\alpha y_{n-k}^\alpha \leq 0, \quad n \geq n_2. \tag{13}$$

Now we define $u_n = y_n + a^\beta y_{n-\tau} + \frac{b^\beta}{2^{\beta-1}} y_{n+\sigma}$, then $u_n > 0$, and

$$u_n \leq (1 + a^\alpha + \frac{b^\alpha}{2^{\alpha-1}}) y_{n-\tau}, \quad n \geq n_2.$$

Using the last inequality in (13), we obtain

$$\Delta u_n + \frac{P_n}{4^{\alpha-1}} \frac{R_{n-k}^\alpha u_{n+\tau-k}^\alpha}{(1 + a^\beta + \frac{b^\beta}{2^{\beta-1}})^\alpha} \leq 0, \quad n \geq n_2.$$

Thus $\{u_n\}$ is an eventually positive nonincreasing solution of (12) which is a contradiction. Case (II) follows from Theorem 1 (Case (II)). This completes the proof. □

Theorem 3. Let condition (3) holds. Assume that $0 < \alpha < \beta < 1$, and

$$\Delta v_n + \frac{P_n R_{n-k}^\alpha v_{n+\tau-k}^\alpha}{(1 + a^\alpha + b^\alpha)^\alpha} \leq 0, \quad n \in \mathbb{N}(n_0) \tag{14}$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof is similar to that of Theorem 1 by using Lemma 4 instead of Lemma 3, and hence the details are omitted. □

Theorem 4. Let condition (3) holds. Assume that $0 < \beta < \alpha < 1$, and

$$\Delta h_n + \frac{P_n R_{n-k}^\alpha h_{n+\tau-k}^\alpha}{(1 + a^\beta + b^\beta)^\alpha} \leq 0, \quad n \in \mathbb{N}(n_0) \tag{15}$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof is similar to that of Theorem 2 by using Lemma 4 instead of Lemma 3, and hence the details are omitted. □

Corollary 3. *Let condition (3) hold. If $0 < \alpha < 1$, $\tau < k$ and*

$$\sum_{n=n_0}^{\infty} P_n R_{n-k}^\alpha = \infty \quad (16)$$

then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 2 and [21, Theorem 1]. \square

Theorem 5. *Let condition (3) holds. Assume that $1 \leq \alpha = \beta$, $k \geq \tau$ and*

$$\Delta w_n + \frac{P_n^* R_{n-k}^\alpha w_{n+\tau-k}^\alpha}{4^{\alpha-1} (1 + a^\alpha + \frac{b^\alpha}{2^{\alpha-1}})^\alpha} \leq 0, \quad n \in \mathbb{N}(n_0) \quad (17)$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. Proceeding as in the proof of Theorem 1, we obtain (7), that is,

$$\Delta(r_n \Delta z_n) + a^\alpha \Delta(r_{n-\tau} \Delta z_{n-\tau}) + \frac{b^\alpha}{2^{\alpha-1}} \Delta(r_{n+\sigma} \Delta z_{n+\sigma}) + \frac{P_n}{4^{\alpha-1}} z_{n-k}^\alpha + \frac{Q_n}{4^{\alpha-1}} z_{n+m}^\beta \leq 0, \quad n \geq n_1$$

Case (I). For this case $\{z_n\}$ is increasing and we have from the last inequality

$$\Delta(r_n \Delta z_n + a^\alpha r_{n-\tau} \Delta z_{n-\tau} + \frac{b^\alpha}{2^{\alpha-1}} r_{n+\sigma} \Delta z_{n+\sigma}) + \frac{P_n^*}{4^{\alpha-1}} z_{n-k}^\alpha \leq 0, \quad \text{for } n \geq N. \quad (18)$$

The rest of the proof is similar to that of Theorem 1 of Case (I).

Case (II). The proof follows from Case (II) of Theorem 1. The proof is complete. \square

Corollary 4. *Assume $\alpha = 1$, and $k - \tau \geq 1$ hold. If the condition (3) and*

$$\liminf_{n \rightarrow \infty} \sum_{s=n+\tau-k}^{n-1} P_s^* R_{s-k} > M \left(\frac{k - \tau}{1 + k - \tau} \right)^{1+k-\tau}, \quad n \in \mathbb{N}(n_0) \quad (19)$$

where $M = (1 + a + b)$ are satisfied, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 5 and [13, Theorem 2]. \square

Corollary 5. *Assume $\alpha > 1$, $k \geq \tau$ and condition (3) hold. If there exists a $\lambda > \frac{1}{k-\tau} \log \alpha$ such that*

$$\liminf_{n \rightarrow \infty} \left[P_n^* R_{n-k}^\alpha \exp(-e^{\lambda n}) \right] > 0, \quad (20)$$

then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 5 and [21, Theorem 2]. \square

Theorem 6. *Let condition (3) holds. Assume that $0 < \alpha = \beta < 1$, $k > \tau$, and*

$$\Delta w_n + \frac{P_n^* R_{n-k}^\alpha w_{n+\tau-k}^\alpha}{(1 + a^\alpha + b^\alpha)^\alpha} \leq 0, \quad n \in \mathbb{N}(n_0) \quad (21)$$

has no eventually positive nonincreasing solutions, then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof is similar to that of Theorem 5 by using Lemma 4 instead of Lemma 3, and hence the details are omitted. \square

Corollary 6. Assume $0 < \alpha < 1$ and $k - \tau < 0$ holds. If condition (3) and

$$\sum_{s=n_0}^{\infty} P_s^* R_{s-k}^\alpha = \infty \tag{22}$$

then every solution $\{x_n\}$ of equation (1) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. The proof follows from Theorem 6 and [21, Theorem 1]. □

4. EXAMPLES

In this section we present some examples to illustrate the main results.

Example 1. Consider the difference equation

$$\Delta\left(n(n+1)\Delta\left(x_n + \frac{1}{4}x_{n-2} + \frac{1}{2}x_{n+3}\right)\right) + \frac{p}{n}x_{n-4} + \frac{q}{n}x_{n+3} = 0, \quad n \geq 1. \tag{23}$$

Here $r_n = n(n+1)$, $a = \frac{1}{4}$, $b = \frac{1}{2}$, $p_n = \frac{p}{n} > 0$, $q_n = \frac{q}{n} > 0$, $\tau = 2$, $\sigma = 3$, $k = 4$, $m = 3$ and $\alpha = \beta = 1$. Then $R_n = \frac{n-1}{n}$, $P_n = \frac{p}{n+3}$, $Q_n = \frac{q}{n+3}$ and $P_n^* = \frac{p+q}{n+3}$. Since

$$\liminf_{n \rightarrow \infty} \sum_{s=n+\tau-k}^{n-1} P_s^* R_{s-k} = 2(p+q)$$

then by Corollary 4 we conclude that the solution $\{x_n\}$ of equation (23) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$ if $p+q > \frac{7}{27}$.

Example 2. Consider the difference equation

$$\Delta\left((n+4)(n+5)\Delta\left(x_n + \frac{1}{2}x_{n-2} + \frac{1}{4}x_{n+3}\right)\right) + px_{n-4}^{1/3} + qx_{n+3}^{1/5} = 0, \quad n \geq 1. \tag{24}$$

Here $r_n = (n+4)(n+5)$, $a = \frac{1}{2}$, $b = \frac{1}{4}$, $p_n = p$, $q_n = q$, $\tau = 2$, $\sigma = 3$, $k = 4$, $m = 3$ and $\alpha = \frac{1}{3}$, $\beta = \frac{1}{5}$. Then $R_n = \frac{n-1}{n}$, $P_n = p$, $Q_n = q$. Since

$$\sum_{s=n_0}^{\infty} P_s R_{s-k}^\alpha = \sum_{n=6}^{\infty} p \left(\frac{n-5}{n}\right)^{1/3} = \infty.$$

then by Corollary 3 we conclude that the solution $\{x_n\}$ of equation (24) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

Example 3. Consider the difference equation

$$\Delta\left(2^{n+1}\Delta\left(x_n + \frac{1}{3}x_{n-2} + \frac{1}{5}x_{n+3}\right)\right) + e^{e^n}x_{n-3}^3 + 3^n x_{n+3}^5 = 0, \quad n \geq 1. \tag{25}$$

Here $r_n = 2^{n+1}$, $a = \frac{1}{3}$, $b = \frac{1}{5}$, $p_n = e^{e^n}$, $q_n = 3^n$, $\tau = 2$, $\sigma = 3$, $k = 3$, $m = 3$ and $\alpha = 3$, $\beta = 5$. Then $R_n = \frac{2^{n-1}-1}{2^n}$, $P_n = \frac{e^{e^n}}{n+3}$, $Q_n = \frac{3^n}{n+3}$ and $P_n^* = \frac{e^{e^n}+3^n}{n+3}$. Since

$$\begin{aligned} \liminf_{n \rightarrow \infty} \left[P_n^* R_{n-k}^\alpha \exp(-e^{\lambda n}) \right] &= \liminf_{n \rightarrow \infty} \left[e^{e^n} \left(\frac{2^{n-1}-1}{2^n} \right)^3 e^{-e^n} \right] \\ &= \liminf_{n \rightarrow \infty} \left(\frac{2^{n-5}-1}{2^n-4} \right) = \frac{1}{2} > 0 \end{aligned}$$

then by Corollary 5 we conclude that the solution $\{x_n\}$ of equation (25) is either oscillatory or $\lim_{n \rightarrow \infty} x_n = 0$.

We conclude this paper with the following remark.

Remark 1. *It would be interesting to extend the results of this paper to the equation*

$$\Delta \left(r_n \Delta (x_n + a_n x_{n-\tau} + b_n x_{n+\sigma}) \right) = p_n x_{n-k}^\alpha + q_n x_{n+m}^\beta, \quad n \geq n_0.$$

with $\sum_{n=n_0}^{\infty} \frac{1}{r_n} < \infty$.

REFERENCES

- [1] Agarwal, R.P., *Difference Equations and Inequalities*, Theory, Methods and Applications, Second Edition, Marcel Dekker, New York, 2000.
- [2] Agarwal, R.P., Bohner, M., Grace, S.R. and O'Regan, D., *Discrete Oscillation Theory*, Hindawi Publ. Corp., New York, 2005.
- [3] Agarwal, R.P., Grace, S.R. and Bohner, E.A., *On the oscillation of higher order neutral difference equations of mixed type*, Dyn. Sys. Appl. **II** (2002), 459-470.
- [4] Agarwal, R.P. and Wang, P.J.Y., *Advanced Topics in Difference Equations*, Kluwer, Dordrecht, 1997.
- [5] Driver, R.D., *A mixed neutral system*, Nonlinear Analysis, Theory, Methods and Applications **8** (1994), No. 2, 155-158.
- [6] Ferreira, J.M. and Pinelas, S., *Oscillatory mixed difference systems*, Adv. Diff. Eqns, Article ID 92923 (2006), 1-18.
- [7] Grace, S.R., *Oscillation of certain neutral difference equations of mixed type*, J.Math. Anal. Appl. **224** (1998), 241-254.
- [8] Grace, S.R. and Dontha, S., *Oscillation of higher order neutral difference equations of mixed type*, Dyn. Sys. Appl. **12** (2003), 521-532.
- [9] Gyori, L. and Ladas, G., *Oscillation Theory of Delay Differential Equations*, Clarendon Press, Oxford, 1991.
- [10] Hardy, G.H., Littlewood, J.E. and Polya, G., *Inequalities*, Second Edition, Cambridge Uni. Press, Cambridge, 1952.
- [11] Hildebrandt, T.H., *Introduction to Theory of Integration*, Academic Press, New York, 1963.
- [12] Jiang, J., *Oscillation of second order nonlinear neutral delay difference equations*, Appl.Math. Comput. **146** (2003), 791-801.
- [13] Ladas, G., Philos, Ch.G. and Sficas, Y.G., *Sharp conditions for the oscillation of delay difference equations*, J.Appl.Math. Simul. **2** (1989), 101-112.
- [14] Stavroulakis, I.P., *Oscillation of mixed neutral equations*, Hiroshima Math.J. **19** (1989), 441-456.
- [15] Thandapani, E. and Kavitha, N., *Oscillation theorems for second order nonlinear neutral difference equations of mixed type*, J. Math. Comput. Sci. **1** (2011), 89-102.
- [16] Thandapani, E. and Kavitha, N., *Comparison and oscillation criteria for second order nonlinear neutral difference equations of mixed type*, Dyn. Sys. Appl. **21** (2012), 83-92.
- [17] Thandapani, E., Kavitha, N. and Pinelas, S., *Oscillation criteria for second order nonlinear neutral difference equations of mixed type*, Advances in Diff. Equ. **4** (2012), 1-15.
- [18] Thandapani, E. and Mahalingam, K., *Oscillation and nonoscillation of second order neutral delay difference equations*, Czech. Math.J. **53** (2003), No. 4, 935-947.
- [19] Thandapani, E. and Selvarangam, S., *Oscillation of second order Emden-Fowler type neutral difference equations*, Dyn.cont.Dis.Impul.Sys. **19** (2012), 453-469.
- [20] Thandapani, E. and Selvarangam, S., *Oscillation theorems of second order quasilinear neutral difference equations*, J.Math. Comput. Sci. **2** (2012), No. 4, 866-879.
- [21] Tang, X.H. and Liu, Y.J., *Oscillation for nonlinear delay difference equations*, Tamkang J.Math. **32** (2001), 275-280.
- [22] Wang, D.M. and Xu, Z.T., *Oscillation of second order quasilinear neutral delay difference equations*, Acta Math. Appl. Sinica. **27** (2011), No. 1, 93-104.

RAMANUJAN INSTITUTE FOR ADVANCED STUDY IN MATHEMATICS
 UNIVERSITY OF MADRAS
 CHENNAI-600005, INDIA.
E-mail address: ethandapani@yahoo.co.in

DEPARTMENT OF MATHEMATICS
 PERIYAR UNIVERSITY
 SALEM-636011, INDIA.
E-mail address: vbmaths@gmail.com